B iz a

15 ¥ &
m o R| 1:1000 [mago—r] 15-313 [ @ mom B |- mE #|® g & 338 B

L =56m
W =10. 3m~34. 3m

\

i AI60- 1415

PEMD B3

geicm

LU
“
ES
24 =
© FRIGEE ERUEBRIF ey R=550
< L43n yi 390 CAL :‘7‘%
»> o - 31 . 2 e N =
T T (13-46) i 1z B 2 S 3 X
M) ) > =—Y
LN \ : Ry e
. = 20N
= woR
& 5 S =
S 7 = S Rr=s
& < === = 60— & cL=60
508 = —— = -~ = —— — A === %\\,_/ ~
== ; — * N s ) 2 >
2 _l- N S 0 - = G — 8 2
Q: = ~ o= P _
U - 323 P
L N == s=Jd__ kg
W = 77 —
— S S
7 g P - S 1
/ - 2l = i o
[ Eugl : A=80 o 5 X
4 Po_fiskis E & <
P L=19.7 W=9.3(6.5) r‘ %
X = -86, 236 (m) 6::")
Y= -160m / FRI0EE EBEHIF GHEERIER) L=63n(10-8) < P —_— ¢
»> FRIFE SEWEIFE L=76n < FERIFEE EBBRIF L=220m 4 = u = R=10
TRIFE 509 > TRIER UBHEHRIF 23,01 =7 cL=5i
WEAETE . L=53m (13-47) _ FRIEE BRESIF (EHE) L2 o
om - > WHSSEE BRRAIE LIt < > ! < 5 cizh [ By LT
» < ; A= FRIEE BRABTF
1) > g:;g:rigzs BGOSR HBHHIF L=19n g ' $ > L2 <
E KEWE RIS (62-1) & )
52: = <
ZZEM;E; L=377m L8 SEEWHRT FRHIS5 4 B BHGERE BREBTH L=00n S < 7-14) R BRSTHE
CHEAAT) L=17n| FRIFE BRAGSIH WSS HEBRIS . ) 60-1 HEBRIF <
RHERTHE  L=192m o L=19.7m KEWRIE L=don L=24m > BHAEE MRRMIF L=i5n |5
P FH21FE EEKEBRIE L=5md
8 w=5.5 -7 w=6.5 w=6.5 T?‘ W=5.5
B® m i Al A
. i 20 7o < I N o - 20 - i
'TEL — —L () 2 (1) “
B B2 I B &l = %

. BEAETHEREORELAT, ARAEONERRUNERRE
BHLTHELELOTHS. (REES) W55, GAH44E



